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General Comments

The paper required candidates to answer the compulsory question 1 which carried 50 marks and then to choose
two questions out of the remaining three questions, which carried 25 marks each. Candidates performed quite
well in this session. As usual the paper dealt with a wide range of issues and accounting standards. There are
several key principles in each standard, which are the basis of most of the examination questions, and
candidates should concentrate on understanding and interpreting these principles. Candidates need to
understand the standards, and not just learn their content. Understanding will lead to better application in the
examination. Candidates should practice divergent thinking, which is the ability to think of several possible
answers to a question before providing the solution. This is the ability to see potentially different outcomes for a
given set of circumstances. This will lead to candidates having the ability to apply the standards to different
scenarios. Every examination session produces scenarios, which candidates will not necessarily have met before,
and thus there is a need for this type of reasoning. Candidates often simply recite the standard leaving the marker
with the task of determining how applicable the answer actually is to the question. Candidates should adopt a
model of learning which suits them and by doing this; candidates will be better prepared for the examination

Specific Comments

Question One

This question required candidates to prepare a consolidated statement of financial position for the Minny Group,
as at 30 November 2012.The group structure was a complex group with a sub-subsidiary. Candidates also had
to deal with an associate, which had originally been an investment within the group, impairment testing the
holdings in the group companies, a disposal group and the capitalisation of development expenditure. Candidates
dealt with the group structure quite well and the calculations of goodwill arising on acquisition were generally
accurate. It is important to take time in the examination to determine the nature of the group structure as marks
are allocated for this in the marking guide. Often candidates calculate retained earnings and non controlling
interest inaccurately but the marking guide gives credit for candidates own figures as long as the principle is
correct. This latter point also enhances the importance of candidates showing full and clear workings. Some
candidates condense their workings into a disproportionately small space in the answer book. Clarity is more
important than conciseness. In this question, there were marks allocated for the presentation of the disposal
group on the face of the statement of financial position. Many candidates did not show the disposal group
separately on the face. Another important consideration is the completion of the ‘double entry’ in the workings.
Marks are allocated for the correct completion of the entries.

The main problems that arose were the treatment of the impairment of goodwill, the gain arising on the
accounting for the associate, and the treatment of the disposal group. Additionally, candidates often find it
difficult to deal with the volume of information in the question. This skill can be improved by exam practice and
technique.

Part (b) of the question required candidates to discuss what is meant in IFRS 5 by ‘available for immediate sale
in its present condition’ and ‘the sale must be highly probable’, whilst setting out why regulators may question
entities on the application of the standard. It seems apparent from the nature of the question that there are two
elements to the question. Firstly, a discussion of IFRS 5 and secondly why questions may arise on the
application of IFRS 5. Accordingly marks were allocated on this basis. Many candidates simply repeated the
information in the question, which did not gain marks. In the introduction to this report, the ability to think
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widely was alluded to. This question required candidates to do just that. If candidates read widely and learn to
formulate opinions, then this type of question would not pose problems.

Part (c) of the question set out a situation where a property with a carrying value of $2 million at the year-end
was being sold to a group company for $1 million shortly after the year end. Candidates had to discuss the
ethical and accounting implications of the intended sale of assets. Again there were two elements to the
question. The ethical implications and the accounting implications. There were a surprising number of candidates
who did not discuss the accounting implications and also many candidates did not see any ethical issues.

If candidates do not deal with every element of the question, then they are significantly restricting the number of
marks that they are likely to achieve.

Question Two

This question required candidates to discuss the accounting treatment of green certificates in financial
statements. The green certificates were essentially income related government grants. However there were a
variety of IFRS which needed to be referred to besides IAS 20.These IFRS included IAS18 and IAS 2. Many
candidates discussed |IAS 38 Intangibles and some credit was given for a relevant discussion. The theme of this
report is divergent thinking. Here a candidate should not have simply discussed IAS 20 but widened the
discussion to include the potential impact of other standards on the entity. This is a skill expected of an ACCA
member.

The second part of the question dealt with an overseas subsidiary and required candidates to discuss amounts
reported in the consolidated statement of cash flows. The surprising thing about this part of the question was the
number of candidates who ignored the cash flow implications and simply discussed the accounting in the group
statement of financial position. It is important for candidates to read the scenario the question. Marks will not be
gained for irrelevant discussions. In fact it is detrimental to the candidates’ chance of being successful in the
examination as such discussions use up valuable time for no credit.

The third element of the question dealt with the situation where there was some doubt as to whether an entity
should treat the holding in another entity as a subsidiary in its consolidated financial statements. This question
involved the discussion yet again of more than a single IFRS.There are a number of IFRS which deal with group
accounting and candidates should look at these standards in conjunction with each other. In this question control
was determined by looking at IFRS 10 but additionally, if an entity is not a subsidiary then other standards
should be consulted such as IFRS 11 for joint control implications and IAS 28 for equity accounting possibilities.
A narrow answer dealing with IFRS 10 would have restricted the marks. This part of the question was quite well
answered.

The final part of the question required candidates to look at adjustments to current tax in respect of prior years’
and whether this expense should be been treated as a prior year adjustment. These items related to adjustments
arising from tax audits by the authorities in relation to previous reporting periods. In this and the above part of
the question the issues set out in the question were critical to a good answer. The information in the question
was significant to a correct solution. An accountant cannot advise a client effectively, if the accountant ignores
the facts which relate to that client. This part of the question was quite well answered. Marks were allocated for
a reasoned discussion even if the resulting recommendations were not in accordance with the model answer.
Professional marks were allocated in this question based upon the fullness of the attempt at the question and the
degree of understanding and reasoning shown by candidates. This principle was applied throughout the paper.
Question Three
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This question dealt with a specialist type of organisation, a local government organisation, whose financial
statements are prepared using International Financial Reporting Standards. The first part of the question dealt
with investment property and property held as part of the organisation’s housing inventory. Thus the key
standards were IAS 40 and IAS16.Candidates needed a basic understanding of the two standards and the ability
to apply their knowledge. The question was quite well answered but again several candidates did not use the
information in the question such as the fact that the rent paid only covered the cost of the maintenance of the
property. The rental revenue was incidental to the purpose for which the property was held, thus the property
was not treated as an investment property.

The second part of the question dealt with the outsourcing of the waste collection to a private sector provider.
The key standard here was IAS 17. Again the key skill required here was the application of knowledge. Many
candidates discussed the risks and rewards arguments but very few discussed who obtained the benefit from the
asset. Generally, this part of the question was well answered

The third part of the question dealt with IAS 37 and provisions. The scenario was one that many accountants
face in practice. Many candidates felt that there was an obligating event but because the legislation was not yet
enacted, they felt that there should be disclosure of a contingent liability instead of correctly stating that a
provision should be made. Marks are generally split between application and knowledge of the standard, which
further shows the importance of not simply quoting an IFRS.

The final part of the question dealt with the impairment of an asset. There were three elements to the question.
Knowledge of the standard, application of the standard and completion of the calculations. Candidates performed
quite well on the knowledge aspect of the question. When applying the knowledge, reference to the question is
essential and this is where candidates have problems, as they are not used to using information in this way. The
knowledge should be second nature, it should not require very much thought, as it is the application in a
question such as this, which requires the thought time. Very few candidates calculated the impairment loss
correctly but overall the question was quite well answered.

Question Four

This question required candidates to discuss the main principles of fair value measurement as set out in IFRS 13
and to describe the three-level hierarchy for fair value measurements used in IFRS 13. Surprisingly, this question
was not as popular as was anticipated. The standard has been the subject of an article in student accountant,
which is not always indicative of an exam question being set in the area. Candidates who answered the question
did well. Several candidates did not read the question carefully enough and answered part (aii) in part (ai). The
marking guide allows some leeway in this regard.

Part (b) required candidates to apply the principles set out in part (a) in two scenarios. The first was the fair
valuation of an asset and the second was the fair valuation of a decommissioning liability. Both are common
examples of fair valuation but candidates struggled to produce meaningful answers. It appears as though there
was little understanding of the principles in the standard. For example, the nature of the principal and most
advantageous markets for the asset was generally poorly applied. Similarly in the case of the decommissioning
liability, the fair value of the liability assumes that it is transferred to a market participant at the measurement
date. Often there will be no observable market in this case. These points were seldom raised.
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